
1- Retrouve chaque nombre (en faisant un tableau                                                                                                     

de numération sur ton ardoise) : 

62 d = ……………………….. 

3 c + 7 u = ……………………. 

19 u + 1c = ………………………………. 

8 u + 25 d = …………………………… 

2- Complète le tableau : 

Nombre 
donné 

Chiffre des 
centaines 

Chiffre des 
unités 

Chiffre des 
dizaines 

Nombre de 
dizaines 

Nombre de 
centaines 

Nombre 
d’unités 

283        

485        

124       

  


